SHBIZ 5
Plastic Screws

IRHRIEES
Screw Caps & Bonnets

YRBIZIE
Plastic Nuts

IRNLET TS

Set Screws

S8 ELER
Thumb Screws

PCMRAIR
Card Puller

PCHERE
PCB Card Guides



Mg : ARBGEOH2RE > 2T

2
+ Material: Nylon 66 (UL) FoBERE Z%”F%P
+ Flame Class: 94V-2/94V-0

+ Color: Natural/Black

 Unit: mm
h@Bﬁ hﬁAﬁJ puc f®14ﬁ rmlzﬂ S
F ; et —
@55
PartNo.| A | B | C | D | Package Part No. | Package
SCW-1 | 9.8| 8.0/3.3|1.3 1000 SCW-3 1000
SCW-2 [13.3(11.6(4.3|1.4

- Material: Nylon 66 (UL)

+ Flame Class: 94V-2/94V-0
« Color: Natural/Black
+ Unit: mm

Part No. | Package
SCW-5 1000

« Material: Nylon 66 (UL)

+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black

« Unit: mm

MOUNTING HOLE

Part No. | Package
SCWA-6 1000

Big o b — M Mk AMGEREA -

- Material: Nylon 66 (UL)
+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black

« Unit: mm
BN
6 . N
-3~ r5.54.‘ (\
- N Y
7 N <
\\li.li.l\.li.l\:}
N\ Y.
M2.5X0.45P Part No.| A B © Thread Package
MP-3 6.0/ 3.0| 5.5/ M3X0.5P
Part No. | Package MP-4 8.0/4.0| 7.7|M4X0.7P | 1000
MP-2.5 1000 MP-6 ]11.9]8.5/10.0| M6X1.0P




« Material: Nylon 66 (UL)

+ Flame Class: 94V-2/94V-0
« Color: Natural/Black

« Unit: mm

Part No.

Package

MP-5

1000

M5X0.8P
Part No. | Package
MP5-1 1000

‘*@7.7*
=l

M4X0.7P
Part No. | Package
MP-4-1 1000

20 —
T 3 2
El
el b
o~
H
i Y
M12X1.75P
Part No. | Package
MP-12 250

' l
<1 DR
<1 bbb

Rig: e —RB% ARG ERA -

M3X0.5P
Part No. | Package
MP-26 1000

Part No. | Package
MP-632 1000
F—11.8—
~4.5 @14

ot

T : ‘ [=e]

[INRAAN g o
i

+ Material: PBT

« Color: Black
Part No. | Package
MP6-1 1000

Wi

1/ i
it

+ Material: POM
+ Color: Natural

Part No. | Package
* MP16-1 250
Part No. | Package
SWVB-1 1000




Rig: Be—RRY%  FABRKERA -

« Material: Nylon 66 (UL)
+ Flame Class: 94V-2/94V-0
« Color: Natural/Black

« Unit: mm
~— @6.5 —
Part No. | Package
SWV-4 1000
- Material: Silicon Rubber Rig : febd—RBUMS fEARY%E
« Color: Black iR o
« Unit: mm
~2- -— @14 —
t
[]
o~ N
5 = Part No. | Package
S
— TF-250 1000
- Material: Silicon Rubber A e — %% FAB%KERLR -
« Color: Black
+ Unit: mm
f 10. 7
T '\.
S 3 L |
g I
B ~ (257.56 -

SR
Tl
F— 10

0
<t
j
Part No. | Package Part No. | Package
EMC-40 1000 EMC-41 1000

Rig : RE—MBGEXEBRGEER -

- Material: Nylon 66 (UL)

+ Flame Class: 94V-2/94V-0
« Color: Natural/Black

+ Unit: mm

|
C?)

PartNo. | A |B| C | D | Thread | Package
SMO-3  |15.96/5.0] 8.0| 6.4 M3X0.5P
SMO-4 21.5 |8.0/10.1]10.0] M4X0.7P
SM0-632 |22.0 |8.0/10.5/10.0/6-32 UNC
SM0-832 |21.0 |8.0/10.0/10.0/8-32 UNC

1000




Rig : Bud —RBERBBRGEER -

+ Material: Nylon 66 (UL)
+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black

« Unit: mm @2.4 FOR M3 SCREW

Part No. | Package
B MOA3 1000

Part No. Package
CAM-12 100

= 1 ol
— 1 = jj’
THREAD ;THREAD

PartNo. | A | B | C | D | Thread | Package PartNo. | A| B | C | D | Thread |Package

MO-3 8.5/5.4/3.2]0.8 | M3X0.5P MO-6G-68 [13.0/10.0/6.8 |1.65|M6X1.0P 2000
MO-3-3.7 | 8.5/5.4|3.7]0.8 | M3X0.5P 1000 MO-8G-85 |17.0/13.0/8.5]1.9 |M8X1.25P| 1000
MO-4 9.7/6.914.5]0.9 | M4X0.7P

MO-632 10.6/7.8[4.2|1.0/6-32 UNC

- Material: Nylon 66 (UL)/PC (UL)
« Flame Class: 94V-2/94V-0

+ Color: Natural Part No. A | B | Thread |Package
* Unit: mm M-2 3.95[1.4| M2X0.4P
M-2L 3.95(3.0| M2X0.4P
M-2.5 5.0 |2.0|M2.5X0.45P

/] M-2.6 | 5.0 |2.0/M2.6X0.45P| 2000
{ ) « M-3 55 [2.7] M3X0.5P
M-3S 54 |2.4] M3X0.5P
/| M-3.5 | 59 |2.8/M3.5X0.6P
M-4 6.9 |3.3] M4x0.7p
.vE- 3-. M-4F 7.0 |25 M4x0.7p
A,‘ J 5 M-5 8.0 |4.4] M5x0.8P | o
THREAD M-6 10.0 |5.0] M6X1.0P

S4-40 6.4 [2.5] 4-40 UNC
S6-32 7.9 [3.2] 6-32 UNC




Mg ReSAAEIEERSGRA -

+ Material: Nylon 66 (UL)
+ Flame Class: 94V-2/94V-0
« Color: Natural/Black
« Unit: mm
3
M12X0.75P
0
N
@;t
Part No. | Package Part No. | Package
M12-2 2000 MOC-12 1000
- Material: Nylon 66 (UL) AR BRA—RBUEREBE&ER -

 Flame Class: 94V-2/94V-0
+ Color: Natural/Black
« Unit: mm

Part No. Thread Package
MOB-2.5 | M2.5X0.45P

MOB-2.6 |M2.6X0.45P 1000
PN
7 j
THREAD { ) <
. e J
m
T @ ———— ¢ 4*‘
: [Te)
Part No. A | B | Thread | Package THREAD |
MOPG-7 17.115.0 | PG7
MOPG-9 22.0/5.1| PG9 1000 Part No. | A Thread | Package
MOPG-11 24.0/6.1 | PG11 M-10 17.0 |M10X1.5P 500
MOPG-13.5 [27.2|6.1| PG13.5 MO-12 |17.9 [M12X1.5P| 1000

« Material: Nylon 66 (UL)/PP
+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black

+ Unit: mm

PartNo. | A | B C Thread | Package
MO-8-1 [12.0| 5.0|13.0 M8X1.0P 1000
MO-13 14.0| 4.1|16.0 | M13X1.0P

MO-25.4 |38.2|11.742.2 PF1-11 100
MO-32L [36.6| 8.2]41.15| M32X1.5P 500




R Bs —RBYGYREBREREA -

« Material: Nylon 66 (UL)
+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black

+ Unit: mm
RAT PartNo. | A | B | C | Thread |Package
MO-16  |22.0[6.6 [24.7[ M16XL15P | 1000
THREAD MO-20  |27.0[6.6 [29.8] M20X1.5P
MO-25 |33.0(8.5[36.2| M25XL.5P | 500
-y MO-25-1 [33.0]6.6 [35.4] M25X1.5P
e T MO-32_ [41.0]7.6[46.4] M32x1.5P | 100

RE: AREREFRBEKIEM4 > ZF% >

- Material: Nylon 66 (UL)+GF il J§ Ak o
+ Flame Class: 94HB
« Color: Black
« Unit: mm $‘ 1.85 ‘*
Part No. A | Package
© MI1.2-2.5NGF | 2.5
< MI1.2-3NGF | 3.0
% MI1.2-ANGF 4.0 1000
E MI1.2-5NGF 5.0
M1.2X0.25P MI1.2-6NGF 6.0
Part No. A | Package
M1.6-3 3.0
M1.6-4 4.0
M1.6-4.5 4.5
M1.6-5 5.0
M1.6-6 6.0 1000
M1.6X0.35P mg; ;8
M1.6-9 9.0
M1.6-10 10.0| 2000

- Material: Nylon 66 (UL)
+ Flame Class: 94V-2/94V-0
« Color: Natural/Black

+ Unit: mm 245
Part No. A | Package

MI2-6 6.0
MI2-8 8.0
< MI2-10 10.0 1000
M2X0.4P MI2-12 12.0
@4.2 Part No. A | Package
MI2-3.8F 3.8
MI2-4.8F 4.8
MI2-5.8F 5.8

1.2

M2X0.4P

a MI2-6.8F 6.8
MI2-7.8F 7.8 1000
MI2-8.8F 8.8
M2X0.4P MI2-9.8F 9.8

[ MI2-14.8F ] MI2-14.8F | 14.8

~—A




gt ARBRFELEIEMN > £8

- Material: Nylon 66 (UL) R AR e

+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black

« Unit: mm @45 r . oas

© <
B f
v2sx0.45p— = | M2.5X0.45P <
Part No. A | Package Part No. A | Package
MI2.5-5 5.0 2000 MI2.5-4 4.0
MI2.5-12 | 12.0 % MI2.5-125[12.0| 2000
MI2.5-16 [16.0

PartNo. | A | B | C | Thread | Package

@C

* MI3-3 3.0/2.05.5| M3X0.5P
MI3-5 5.0/ 2.0 5.5 M3X0.5P
MI3-6 6.0/ 2.0 |5.5| M3X0.5P
MI3-8 8.0/2.05.5| M3X0.5P
MI3-10 [10.0/2.0]5.5| M3X0.5P| 1000
MI3-12 [12.0{2.0|5.5| M3X0.5P
MI3-12S|12.0{ 1.7 [ 5.4 | M3X0.5P
MI4-7 7.0{2.7|7.0| M4X0.7P

“ @5.4 r
™~

i
.

M3X0.5P J

Part No. | Package

MI3-6R 1000 [ MI3-12S ] MI4-10 (10.0/2.7|7.0|M4X0.7P
- Material: PEEK (UL) Part No. A | Package
+ Flame Class: 94V-0 MI3-4PK 4.0

+ Color: Natural
‘ ’ ' + Unit: mm MI3-5PK 5.0
\ ' MI3-6PK | 6.0
\ ‘ 055 MI3-8PK | 8.0

MI3-10PK | 10.0
N MI3-12PK |12.0

- MI3-14PK |14.0| 1000
MI3-15PK | 15.0
MI3-17PK |17.0
MI3-18PK | 18.0
MI3-20PK | 20.0
MI3-25PK | 25.0
MI3-30PK | 30.0

+ Material: PEEK (UL)
: E'&?f ,S::j?ﬂgw_o Part No. A | Package
+ Unit: mm M3-4PK 4.0
M3-5PK 5.0 | 2000
M3-6PK 6.0
M3-8PK 8.0
M3-10PK | 10.0
% M3-12PK | 12.0
M3-14PK | 14.0
M3-15PK | 15.0
lf M3-17PK | 17.0 1000
M3X0.5P = | M3-18PK | 18.0
M3-20PK | 20.0
M3-25PK | 25.0
M3-30PK | 30.0




Rig: ARBERERGKIEMH > £F8E >

- Material: Nylon 66 (UL)/PC (UL) il i Ak o
+ Flame Class: 94V-2/94V-0
« Color: Natural
« Unit: mm ‘*QC»‘ @ @C—~
<
m [an]
THREAD j‘[ THREAD jI
[ M4-10L ] [ M5-16 ]
Part No. A B |C Thread | Package Part No. A B | C Thread | Package
M2-3 3.0[1.4 33| M2X0.4P M3-20 20.0 |2.1]55| M3X0.5P
M2-4 40]1.4]3.3| M2X0.4P M3-25 25.0 |2.1]55| M3X0.5P
M2-5 5.0(1.4]3.3| M2X0.4P M3-30 30.0 |2.1]|5.5| M3X0.5P
M2-6 6.0[1.4]3.3| M2X0.4P * M4-5 5.0 |25|7.0| M4X0.7P
M2-6.5 6.5(1.4 (33| M2X0.4P M4-6 6.0 |2.5(7.0| M4X0.7P
M2-8 8.0(1.4]3.3| M2X0.4P M4-8 8.0 |25(7.0| M4X0.7P
M2-10 10.0| 1.4 |3.3 | M2X0.4P M4-10 10.0 [2.5]7.0| M4X0.7P
M2-12 12.0| 1.4 |3.3| M2X0.4P % M4-10L [10.0 |3.1/8.0| M4X0.7P
M2-15 15.0| 1.4 |3.3| M2X0.4P M4-12 12.0 [25]7.0| M4X0.7P 1000
M2.5-4 40|15 | 4.3 | M25X0.45P M4-14 14,0 [25]7.0| M4X0.7P
M2.5-5 5.0 1.5 | 4.3 | M2.5X0.45P M4-16 16.0 [2.5]7.0| M4X0.7P
M2.5-6 6.0|1.5|4.3 | M25X0.45P | 2000 M4-20 200 |2.5|7.0| M4X0.7P
M2.5-8 8.0| 1.5 | 4.3 | M2.5X0.45P M4-25 25.0 |2.5|7.0| M4X0.7P
M2.5-10 |10.0| 1.5 | 4.3 | M2.5X0.45P M4-30 30.0 |2.5|7.0| M4X0.7P
M2.5L-13 [13.0| 1.5 |6.3 | M2.5X0.45P M4-35 35.0 |25(7.0| M4X0.7P
M2.6-4 4.0]1.5 4.3 | M2.6X0.45P * M5-16 16.0 [3.6]9.1| M5X0.8P
M2.6-5 5.0|1.5 | 4.3 | M2.6X0.45P M5-20 20.0 [3.6]9.1| M5X0.8P
M2.6-6 6.0| 1.5 | 4.3 | M2.6X0.45P R440-4S | 4.75|1.8 |5.8 | 4-40 UNC
M2.6-8 8.0| 1.5 | 4.3 | M2.6X0.45P R440-6 6.4 |2.4(5.2| 4-40 UNC 2000
M2.6-10 |10.0| 1.5 | 4.3 | M2.6X0.45P R440-7 7.0 |2.4(5.2| 4-40 UNC
M3-4 4.0]2.1|55| M3X0.5P R440-8 8.0 |2.4(5.2| 4-40 UNC
M3-5 5.0(2.1 55| M3X0.5P R440-9 9.5 |2.4|5.2| 4-40 UNC
M3-6 6.0[2.1]5.5| M3X0.5P R440-12 |12.7 | 2.4 |5.2| 4-40 UNC 1000
M3-8 8.0[2.1]5.5| M3X0.5P R440-15 | 15.5 | 2.4 |5.2 | 4-40 UNC
M3-10 10.0| 2.1 |5.5| M3X0.5P R632-6 6.35|2.5(6.7 | 6-32 UNC
M3-12 12.02.1 |5.5| M3X0.5P R632-8 8.0 |2.5(6.7| 6-32 UNC 2000
M3-14 14.02.1 |5.5| M3X0.5P 1000 R632-9 9.5 |25(6.7| 6-32 UNC
M3-15 15.0| 2.1 |5.5| M3X0.5P R632-12 |12.7 |2.5|6.7 | 6-32 UNC
M3-17 17.0|2.1 /55| M3X0.5P R632-15 | 15.9 |2.5|6.7 | 6-32 UNC 1000
M3-18 18.0 2.1 |5.5| M3X0.5P R632-19 |19.1 |2.5|6.7 | 6-32 UNC
« Material: PEEK (UL)
) + Flame Class: 94V-0 Part No. A | Package
- « Color: Natural M3-4FPK 4.0
- « Unit: mm M3-5FPK 5.0
~ 26 M3-6FPK_ | 6.0
= M3-8FPK 8.0
E = E@j M3-10FPK | 10.0
= = a3 M3-12FPK | 12.0
) [ M3-14FPK | 14.0 | 1000
< M3-15FPK | 15.0
\3X0.5P { M3-17FPK | 17.0
’ M3-18FPK | 18.0
M3-20FPK | 20.0
M3-25FPK | 25.0
M3-30FPK | 30.0




Rig: ARBERERBEEMNH 228

- Material: Nylon 66 (UL)/PC (UL) il Ak o
+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black

+ Unit: mm

N

N

— |

— <t

THREAD— = |

Part No. A B C Thread Package Part No. A B © Thread | Package
M2-45F | 45| 1.2 3.6 M2X0.4P M3-8F 8.0/ 1.6 |5.6 | M3X0.5P
M2-5.5F |55 | 1.2 3.6 M2X0.4P M3-10F |10.0| 1.6 |5.6 | M3X0.5P
M2-6.5F | 6.5 | 1.2 3.6 M2X0.4P M3-12F |12.0] 1.6 |5.6 | M3X0.5P
M2-75F | 75| 1.2 3.6 M2X0.4P 2000 M3-14F [14.0| 1.6 |5.6 | M3X0.5P
M2-8.5F | 8.5 | 1.2 3.6 M2X0.4P M4-8F 8.0/ 2.0 |7.6 | M4X0.7P
M2.5-6F | 6.0 | 1.5 | 4.6 | M2.5X0.45P M4-10F [10.0| 2.0 |7.6 | M4X0.7P 1000
M2.5-8F | 8.0 | 1.5| 4.6 | M2.5X0.45P M4-12F [12.0] 2.0 |7.6 | M4X0.7P
M3-4.2F | 4.2 | 1.7 6.0 M3X0.5P M4-14F |14.0| 2.0 |7.6 | M4X0.7P
M3-5F 4811253 M3X0.5P M4-16F [16.0| 2.0 |7.6 | M4X0.7P
M3-5.3F | 5.0 1.6 | 5.3 M3X0.5P 1000 M4-18F [18.0| 2.7 |7.65| M4X0.7P
M3-6F 6.0 1.6]|5.6 M3X0.5P M5-15F [14.8| 2.5 |9.1 | M5X0.8P

- Material: Nylon 66 (UL)

+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black

+ Unit: mm

Part No. | Package
MIL4-20 1000

M4X0.7P

- Material: Nylon 66 (UL)/PC (UL)
+ Flame Class: 94V-2/94V-0
+ Color: Natural

« Unit: mm PartNo. | A | B C Thread | Package

M3.5-10 |6.9/2.2|10.0 | M3.5X0.6P
M3.5-15 16.9/2.2|15.0 | M3.5X0.6P
M3.5-20 |6.9]2.2]20.0 |M3.5X0.6P | 1000
M3.5-25 |6.9/2.2|25.0 [ M3.5X0.6P
M3.5-30 |6.9/2.2|30.0 | M3.5X0.6P
S440-6 5.2]12.1] 6.4 | 440 UNC
S440-8 5.2(2.1] 8.0 | 4-40UNC | 2000
S440-9 5.2]12.1] 9.5 | 440 UNC
S440-12 |5.2]2.1]12.7 | 4-40 UNC

S440-15 ]5.212.1|15.5 | 4-40 UNC 1000
S632-6 6.7/2.5]| 6.35] 6-32 UNC 2000
S632-8 6.7/2.5] 8.0 | 6-32 UNC
S632-9 6.7/2.5] 9.5 | 6-32 UNC
S632-12 6.7]2.5]12.7 | 6-32 UNC

THREAD THREAD S632-15 |6.7/2.5]15.9 | 6-32 UNC 1000

$632-19 | 6.7]2.5]19.1 | 6-32 UNC
$632-25 |6.7|25)25.4 | 6-32 UNC
[ 5632-25, $632-28 ] S632-28 |6.7|2.5|28.0 | 6-32 UNC




Rid: ANERERGE2 BN 8

- Material: Nylon 66 (UL) AR o
+ Flame Class: 94V-2/94V-0 Q]Z%
« Color: Natural/Black T
« Unit: mm >
Part No. | Package
1/4-20 UNC MI420-25.4 | 1000
N
4 N~
Ok -
w0 o
4 j*:
N
! X
M3X0.5P J M4X0.5P J
Part No. A | Package Part No. A | Package
STM3-4 4.0 STM4-6 6.0
STM3-6 6.0 STM4-8 8.0 2000
STM3-8 8.0 2000 STM4-10 [10.0
STM3-10 | 10.0 STM4-12 |12.0
STM3-12 | 12.0
O
N~
7* 7‘
o [ee)
(s :
-t }
. Il
= 1
f
% o 6-32 UNC N
M6X1.0P S J
Part No. A | Package Part No. | Package Part No. A | Package
STM5-16 |16.0 1000 STM6-12 2000 STM632-6 | 6.35
STM5-25 |25.0 STM632-8 | 8.0 2000
STM632-9 | 9.5
STM632-12 |12.7
28 @12
SCREW DRIVER: PHILLIPS ‘
I 10
® o3
M4X0.7P M4X0.7P [
Part No. | Package Part No. | Package
M4-8L 1000 M4-9NBD 1000

- Material: PC (UL)
« Flame Class: 94V-2
- Color: Transparent

+ Unit: mm
T
waxo. 7= M4X0.7P
Part No. | Package Part No. | Package

MRL4-3 1000 * MRT-8 1000




CRARBERFRGEI RN TEE

. Material: PC (UL) ol R g
+ Flame Class: 94V-2/94V-0

- Color: Transparent

EQGA}
I ]

« Unit: mm
Part No. A | Package
MR4-9.5 9.5
MR4-12 12.0| 1000
M4Xx0.7p MR4-20 | 20.0
+ Head Material: Nylon 66 (UL)+GF @85
+ Head Flame Class: 94V-0 i
« Color: Black
+ Unit: mm e
=
@5
P
n
o
T) Part No. | Package
M5X0.8P T M5A-65 250
* Material: PC (UL) @13.5
- Flame Class: 94V-2/94V-0
- Color: Transparent
+ Unit: mm 79
M8X1.25P
- Material: Nylon 66 (UL)
M6x1.0P « Color: Natural/Black
Part No. | Package Part No. | Package
M6-4 1000 M8-7 1000
+ Material: PC (UL)
+ Flame Class: 94V-2/94V-0
- Color: Transparent
* Unit: mm @8.4
JNT 1/4-20 UNC
‘(
— ® - Material: POM
MeXLOP— —nr | - Color: Black
Part No. | Package Part No. | Package
M6-8F 500 RU1420-8 500
- Material: PE
« Color: Black 6.1
+ Unit: mm
Part No. | Package
EM-528 500




Rig: ARALBAEBAIER o

« Material: PC (UL)

+ Flame Class: 94V-2/94V-0

« Color: Black

+ Unit: mm @18
4‘_( Part No. | Package
ﬁ”’ S ATFF-1 1000

M9.5X1.0P :

- Material: PP (UL) A& : AREH - HIRAPCRZIEE ©

+ Flame Class: 94HB

« Color: Black/White

« Unit: mm @12

@12

M4X0.7P
Part No. | Package Part No. | Package
KSM-1A 1000 KSM-1B 1000

@12 @12 —

wl
63

M4X0.7P M4X0.7P — @5 -
- Material: Nylon 66 (UL)
+ Material: PE - Material: PE + Flame Class: 94V-2/94V-0
+ Color: Black/White « Color: Black/White + Color: Natural/Black
Part No. | Package Part No. | Package Part No. Package
KSM4-5M 1000 KSM4-6F 1000 KSC256-8.4F | 2000
- Material: Nylon 66 (UL) A& : ARBRFRBGEXI Rt 288 >
« Flame Class: 94V-2/94V-0 it i R o
« Color: Natural/Black
+ Unit: mm
~— @C
PartNo. | A | B| C | Thread | Package
MIA6-16 [16.0]3.5|15.0| M6X1.0P 1000
THREAD MIA8-20 [20.0(5.0|18.5| M8X1.25P 500




Mig: AREREBGE2 RN T8

- Material: Nylon 66 (UL) it Ji o

+ Flame Class: 94V-2/94V-0
« Color: Natural/Black

+ Unit: mm
THREAD
Part No. A | Thread |Package
M3X0.5P SM4-6 6.0 | M4X0.7P
SM4-8 8.0 |M4X0.7P
SM4-10 10.0 |M4X0.7P
Part No. A | Package SM4-12 12.0 |M4X0.7P 2000
SM3-6 6.0 SM632-6 6.35|6-32 UNC
SM3-8 8.0 2000 SM632-8 8.0 |6-32 UNC
SM3-10 | 10.0 SM632-9 9.5 |6-32 UNC
SM3-12 | 12.0 SM632-12 |12.7 |6-32 UNC
R ARBERERGEX BN 28
« Material: PC (UL) Al IR B o
+ Flame Class: 94V-2/94V-0
- Color: Transparent = @2.5
« Unit: mm
>
w0
™~ o
J - Part No. | Package
MUS2-10 2000
sz04p4/§§§ ]
Rt MABRLZER  B% > T2
+ Material: PC (UL) R e
+ Flame Class: 94V-2/94V-0
« Color: Black 08

+ Unit: mm *H*OG @

© -~
M3X0.5p M4X0.7P
Part No. | Package Part No. | Package
THRI3-6 2000 THRI4-7 2000

- Material: Nylon 66 (UL)
» Flame Class: 94V-2/94V-0
+ Color: Natural/Black

. 0.5
« Unit: mm

(\\\\
{ )
N

Part No. | Package
THRIA3-2.4 | 2000

-24-



Rig: BMARGIEAR 8% T8>

- Material: Nylon 66 (UL) BRI
+ Flame Class: 94V-2/94V-0 « Material: PC (UL)
« Color: Natural/Black « Flame Class: 94V-2/94V-0
« Unit: mm « Color: Transparent
« Unit: mm
341 1
M5X0.8P <
M6X1.0P {
Part No. | Package Part No. | A | Package

THR5-8 2000 THRI6-6 6.0
THRIG-8 8.0 2000
THRIG-10 |10.0

Rk ARSI AERAtzBEE » T+
B RELRL s FIEFRME -

- Material: PC+ABS (UL)

+ Flame Class: 94V-2/94V-0
« Color: Black

 Unit: mm

Part No. F Thread | Package
GPM3-20 | Zinc Plated | M3X0.5P
GPM4-20 | Nickel Plated | M4X0.7P | 1000

Zinc Plated/
FINISH: F

A ARSRAREAHZEE » T+
B RFLRE S FERMH% o

+ Material: Nylon 66 (UL)
+ Flame Class: 94V-2/94V-0

« Color: Black
« Unit: mm Part No. A | Package
HASW3-8 5.0
CAP HASW3-9 6.0

HASW3-13 | 10.0
HASW3-18 | 15.0| 1000
HASW3-23 | 20.0
HASW3-28 | 25.0
HASW3-33 | 30.0

BODY

M3 SCREW

Part No. A | Package Part No. A | Package

e P2 haswetsTios Haows 15 0
W Ceswess sl
ﬂ 9 HASW4-23 | 20.0 HASW5-25 | 22.0

BODY 1] HASW4-28 | 25.0 HASW5-30 | 27.0| 1000
L HASW4-33 | 30.0 HASW5-35 | 32.0
MASCREW~ & | HASW5-40 | 37.0

HASW5-45 | 42.0
HASW5-50 | 47.0




g s BE K> B RREAR -

+ Head Material: PC+ABS (UL)
+ Head Flame Class: 94V-2/94V-0
« Color: Black

A + Unit: mm

METAL
METAL M2X0.4P M2X0.4P

Part No. | Package Part No. | Package

GPE2-24 1000 GPE2-30 1000
- Plastic Material: PP (UL) R MABYEZEAR  B& T8
+ Flame Class: 94HB Tl JE Ak o
« Color: Black
+ Unit: mm

A |
)
D
PLASTIC ! oS Part No. | Package
® GPE2.6-6 | 1000
SELF-TAPPING 1
SCREW @2.6 ?8.3 1
@10
- Head Material: PC+ABS (UL) AR BE%X o BB
+ Head Flame Class: 94V-2/94V-0
« Color: Black
+ Unit: mm

Part No. A B |Package
GPE3-5.,5 | 5.5/11.8

GPE3-8 8.0/14.3
GPE3-15 |15.0]21.3
GPE3-23 123.0/29.3

METAL 1000

M3X0.5P

- Material: PC+ABS (UL)

+ Flame Class: 94V-2/94V-0
« Color: Black

« Unit: mm

Part No. | Package

SCREW
M3X0.5P
(INSERT MOLDING)

GPEE3-3.5 | 1000




g s %KX > BRREAR -

+ Head Material: PC+ABS (UL)

+ Head Flame Class: 94V-2/94V-0
+ Color: Black

« Unit: mm

Part No. A | Package
GPEA3-6BN | 6.0
GPEA3-8BN | 8.0 500

it : ARSI RARZAHZER » T+
BOoFREFLR FEFBE -

+ Head Material: PC (UL)
+ Head Flame Class: 94V-2/94V-0
« Color: Black — 17—
« Unit: mm ‘ g .
q—
‘F
a8
Y T
| 7]
3 Part No. | Package
STEEL GPED3-6 500
M3X0.5P
- Head Material: PC+ABS (UL) Rig &GN BERKR -
+ Head Flame Class: 94V-2/94V-0 )
- Color: Natural/Black - Head Material: ABS (UL)
« Unit: mm « Head Flame Class: 94HB
« Color: Natural/Black
« Unit: mm
(IHm L&
METAL -t METAL = <«
M4X07P‘/ i M4x0.7P ~ £ )
Part No. | Package Part No. A | Package
GPE4-8 500 GPE4-8L 8.0 500
GPE4-12L |12.0
- Head Material: PP (UL) A& : ARSI RAEAREAHZBERE » 7 F
+ Head Flame Class: 94HB B RELR FIERRK o
« Color: Black
« Unit: mm ~—@23.7—
METAL METAL
M4X0.7P M8X1.25P
Part No. | Package Part No. A | Package
GPE4-12-1 200 GPE8-21 |13.0 100
GPE8-32 | 24.7




Mg s BE X BRRER -

- Head Material: ABS (UL)

+ Head Flame Class: 94HB

+ Color: Black
« Unit: mm

METAL
6-32 UNC

Part No. | Package
GPE4-13.5 250
@14
g4 < Part No. | Package
GPE4-42 250
)
METAL o
M4X0.7P -
@15
Part No. | Package
GPE5-20 500
METAL
M5X0.8P
+ Head Material: PC (UL)
+ Head Flame Class: 94V-2/94V-0
- Color: Black
« Unit: mm
Part No. | Package
GPE44-1 500
METAL
4-40 UNC
+ Head Material: PP (UL)
+ Head Flame Class: 94HB
- Color: Black
« Unit: mm
Part No. | Package
GPE632-6 500




Aig : BH X BERBEK -
+ Head Material: ABS (UL)
+ Head Flame Class: 94HB
+ Color: Natural/Black
« Unit: mm

METAL

METAL
6-32 UNC 6-32 UNC
-g2.5
Part No. | Package Part No. | Package
GPE632-5 500 GPE632-9 500
+ Head Material: PC+ABS (UL) + Head Material: ABS (UL)
+ Head Flame Class: 94V-2/94V-0 « Head Flame Class: 94HB
- Color: Black - Color: Black
« Unit: mm
~— 13 — 13
T15
~ T ~
gt e
METAL = METAL =
M3X0.5P 4L 6-32 UNC S
Part No. | Package Part No. | Package
GPR3-5.5 1000 GPR632-6 500

Rig: ARERFREXEN > 288
AR AR TR FaRE o AR

- Material: Nylon 66 (UL
GEIA B AR EE -

+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black

« Unit: mm

(I o | A
# ¢
THREAD < iy
|
Part No. | A | B | C | Thread | Package Part No. C | Package
SUS632 | 9.0/6.9/9.8|6-32 UNC 1000 RSUS632 |5.0 1000
SUS832 [10.6]7.2/9.6[8-32 UNC RSUS632-6 |6.0




Rig : #PCREMEE S » T HRIEHKPC
+ Material: POM (UL) AR SR e
+ Flame Class: 94HB
« Pin Material: Steel

+ Color: Natural 31.2 \ -6 L
« Unit: mm f
T @
Lo N~
2 i
; i
@2.4 2
6.4 o Part No. | Package
i A 025 CP-15 | 1000
22.8~@3 : 4
olg m%o'
MOUNTING HOLE PIN
« Material: Nylon 66 (UL) /POM (UL) - Material: Nylon 66 (UL)
+ Flame Class: 94HB/94V-2/94V-0 « Flame Class: 94V-2/94V-0

+ Pin Material: Steel

« Pin Material: Steel
+ Color: Natural/Black

« Color: Natural/Black

282 ~7.9F

6.3~

N \j hzzaﬂ ﬂe.3tF T -
l & 5 AN G4 @2

42 2.4 i, JBH:;E

N
ol

° 4 ° B4 0n2

TIPS e J—ir ' s ~y @25
I= A - Rl P _
o

464\*&

i
<
028 }[%
MOUNTING HOLE PIN MOUNTING HOLE PIN MOUNTING HOLE PIN
Part No. | Package Part No. | Package Part No. | Package
CP-25 1000 CP-20 1000 CP-30 1000
~16.2 51 50.8
T LT T8 * 12.06 ~ AR
" Lo = S —
,:; - S 4
2.4 ¢
| @25 23— A2 02.5 ~--C
~H-2 o g
6.35—1+ «©
~6.4 ~——@2.5 | ®
»S«@z.e % _t (s @25+
H[To o © mv_ 22.8 Mi'%
I 22.8-03 < !
MOUNTING HOLE PIN MOUNTING HOLE PIN MOUNTING HOLE PIN
Part No. | Package Part No. | Package Part No.| A | B | C |Package
CP-90 1000 CP-37 500 CP-38 [7.3/6.4|2.0 500
CP-38L |8.8(8.0 (3.5
38
* 7327 7777777 11 . 39.4 94 -85k
5 1 i
J—Lg@( E A\i%g ¢ &
@2.5 #H#Z.l a3 I |
7.3k ~H-2.4
6.4 Q 9.5 o
4
e RO e 2 o
i 4 © DD o Ly
T H P €a\@36 - %
@2.8~03 7‘;’ ' DD%O
MOUNTING HOLE PIN MOUNTING HOLE PIN MOUNTING HOLE PIN
Part No. | Package Part No. | Package Part No. | Package
CP-47 500 CP-50 500 CP-70 1000




- Material: POM (UL)
+ Flame Class: 94HB
« Pin Material: Steel

H i

AR AL LR o

P RPCAR EME S > THRRMPC

+ Color: Black IS
« Unit: mm ﬁ ZT
[{e)
>
=
|
N Part No. | Package
H;D CP-72 500
o
PIN
« Material: Nylon 66 (UL)
+ Flame Class: 94V-2/94V-0
+ Pin Material: Steel
« Color: Natural/Black
+ Unit: mm
W24.9 6.4
9'5¢ 4" ‘-1 " | |
——— 2 @ 50.8 e
5 n
@ %
~H-1.7 @2.4 23
o ° 025+
> 028 @025+, et
S Lo < IS
Hﬂ © T
1 PIN
MOUNTING HOLE PIN
Part No. | Package Part No. | Package
CP-82 1000 CP-84 1000
- Material: Nylon 66 (UL)
+ Flame Class: 94V-2/94V-0
« Color: Natural/Black
+ Unit: mm ©
rf 34.8 —jﬁm
FD — i
7.5~
~— 28.54" <
‘ 6.4+ Part No. | Package
! CP-35 500
N
N /\®2.8~ﬂ3
l MOUNTING HOLE

- Material: PC+ABS (UL)
+ Flame Class: 94V-0
« Color: Gray/Orange
« Unit: mm

a3

Part No.

Package

CP-76

1000

Part No.

Package

CP-77

1000




- Material: Nylon 66 (UL)
+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black

Ak« ABEKENBKR > B ZPCERM
Wk b BEFE -

« Unit: mm
P 89 |
| |
-
@ §ﬂ$
@3.7(X2) o Part No. | Package
< *W*lg CGBC-89 250
W o} o
@34 ‘ 77.4 | |
= = = =
>
T -1
01.6 ~ A —— ——i——:fﬂﬁrni T [ﬁ
T Iy i
- [ uj LI @ @
o ‘ B ' MOUNT SCREW M3
Part No. | Package @ PartNo. | A | B | C | D] E]| I Package
CGBB-100 250 CGB-100L |100.0] 77.0/10.0]7.2|5.4|2.2
CGB-120 |119.0| 94.5| 9.8]/4.5/3.0/1.9 250
CGB-140 |139.8|114.5| 9.7]4.3|2.8|1.9
CGB-160 |[158.7|135.0] 9.7(/4.3|2.8|1.9
- Material: PC+ABS (UL) Ak : Bl ZOCP3.0AR N RPCIR L »
+ Flame Class: 94V-0 2 HFAE o
» Color: Black
+ Unit: mm
(o] —
L? i 105 o?
;= 1
Bl .
< @2(X6) 7 *H*le
ﬁﬁ* ) 3
iLg g j; © | _PartNo. |Package
' ' o CGQ-105 250
- Material: Nylon 66 (UL) A& BEPCRA#MA L » REFIE
« Flame Class: 94V-2/94V-0 R &)
« Color: Natural/Black
« Unit: mm
10.24——30 —+—+10.2
RE R
Q = C———= — &
: 1
~t-2 89.7 o
e P L
‘ g: T ******* ERERY %
@3.4 5.2
1 @3.4 5.2
yme ey 4y
| 77.4 < ﬁgi |4
' I3 ‘ 76.4 w g
MOUNTING HOLE MOUNTING HOLE
THICKNESS 1.2 THICKNESS 1.2
Part No. | Package Part No. | Package
CG-9A 250 CG-9AL 250




ik B ZPCARMMH L » 248 18>

« Material: Nylon 66 (UL)
+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black

%R o

MOUNTING HOLE
CHASSIS THICKNESS 1.2

 Unit: mm
I 90 |
| !
o
> s
j
CT LQ ’
T g1 %
N
o
@3.4 5.2
b 767 — <«
™ MOUNTING HOLE
MOUNTING HOLE
| i =y CHASSIS THICKNESS 1.2 THICKNESS 0.8
Part No. | Package Part No. | Package
CG-9B 250 CG-25 500
i 3
- 89.8 =
D
5 ) 1
— 1.9
- 26— i 2.2 H“ n H» %@
BT
< <
n
<
_ 4 @3.3~@3.45
@3.4 4 3.4 ”IE‘ \F
%18%7: | 76.85

MOUNTING HOLE
CHASSIS THICKNESS 1.2~2.3

Part No. | Package Part No. | Package
CG-26 500 CG-9D 500
[ 102.8 |
25T TS (5]
=2 =N =71
- 1.2~2.3
1272
/—b\J OIS — ,5% %ﬁ
E%‘&G
‘ 91.9 ?j% Part No Package
N N '
@ R CG-10A 250
MOUNTING HOLE
CHASSIS THICKNESS 1.6~2.2
- Material: PC (UL)
+ Flame Class: 94V-2/94V-0
« Color: Black
+ Unit: mm
169.6
= == = =
-Hf1.3~2.2
g e s
< ©
N <
[®3'25~@3'33 @3.25~@3.33 Part No. | Package
5.46~5.54 CGE-169 500

161.9 |

MOUNTING HOLE
CHASSIS THICKNESS 1.5~1.8




Rt : B RPCRAEBZ L » BREFAE »
2 o
+ Material: Nylon 66 (UL) 5
+ Flame Class: 94V-2/94V-0
« Color: Natural/Black
+ Unit: mm
@3.2~@3.4 5.2
e T
# )1 b—B— L3.2-~34
—4 T MOUNTING HOLE
I — 1 o
g T %EDUE CHASSIS THICKNESS: T
PartNo. | A | B [C|D|E T Package
CG-38 [38.0/25.4(6.4|4.5(3.2|0.8~1.2
CG-38L [38.0/25.4(9.6|4.6(3.0|1.0~1.6
CG-50 50.8(38.0/6.4(4.5[3.2]0.8~1.2 500
CG-50S |50.8|38.0(6.4|2.5(1.2|0.8~1.2
CG-90S [88.9|76.2(16.4|2.8|1.5|0.8~1.2
| A K
D ﬂ t Part No. A B | Package
N 0 CG-250 | 63.5| 50.8 500
T Y 21 CG-300 | 76.2| 63.5
L ——= 77#, i %ﬂ CG-350 | 88.9] 76.2] ..
B | CG-400 |101.6] 88.9
~ CG-450 (114.3]101.6
$®3.2 P CG-500 (127.0]114.3 200
{fﬁ CG-550 |139.7]127.0
5.2 CG-600 |[152.4|139.7
MOUNTING HOLE
CHASSIS THICKNESS 0.8~1.2
S
| 1143 | 3 76.2 r~
= =] l
21 - - 0
- LT ﬁ%ﬁ =5 o g
Iy, 5 o 83
o<t 0
2 S H““ SY%
‘ 101.6 o .
MOUNTING HOLE MOUNTING HOLE
CG-450S 500 CG-300L 500
| 43 D
I j [
E i 1.6~ ©
O M~
=15  MOUNTING HOLE
\1 THICKNESS 1.2
W W = Part No. | Package
[Te)
-—23— CGC-43 500




H i

« Material: PC (UL)

+ Flame Class: 94V-2
« Color: Black

« Unit: mm

L"Z.? 4 5.4 L

72 =

)

Bl ZPCARAMA L » BREFIE

KR o

4«
‘2’3-4%7 =
e
=7

MOUNTING HOLE
THICKNESS 1.0

1.5

Part No.
CG-15

Package
1000

- Material: Nylon 66 (UL)

+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black
 Unit: mm

i 153.8
e 5

~

Dt tg @3.4

s P,
‘ 140.8 ‘

MOUNTING HOLE
CHASSIS THICKNESS 1.2

15
,6,,,:,

| 63.5

~—7.9

13k

45—+

76.8

110

6.3

~
I32)

2.3

£l

X

1.1+
4.6+~

~
o
|

Part No.

Package

CG-153

100

Lo

%5.5 ®4.5\}

38.1

MOUNTING HOLE

CHASSIS THICKNESS 0.8

Part No.

Package

CG-63

500

@3.4&?

62.5

MOUNTING HOLE
CHASSIS THICKNESS 1.0

Part No.

Package

CG-77

500

@3.4
S

&

101.6

MOUNTING HOLE

THICKNESS 0.8~1.2

Part No.

Package

CG-110

100




Rt : BEPCHRMMHZ L » %%
2% o
+ Material: Nylon 66 (UL) 5
+ Flame Class: 94V-2/94V-0
« Color: Natural/Black
N - gem U
e —a
i 120 o
‘ | o r 191 1
Dﬂ Mj = etk o o \whk © pttes = S0l [
j
‘ ‘ 23
| % I I - [%]
=g ""”"@AEEH« i o O I
i gm @38 ¥ I’m‘ @3.4
il 4 NP - - (N
| 80 - 3 177.4 |
MOUNTING HOLE Part No. | Package MOUNTING HOLE Part No. | Package
CHASSIS THICKNESS 1.6 CG-120 100 CHASSIS THICKNESS 1.2 CG-191 100
+ Material: PC
- Color: Black
| 2178 1. | 218 @
= = — — |
Tr2s . el
S I S 1
S —— = W
@ @ :u‘;, L7105'64J ™ <
<
EEFH 6§(213.4 JM 65ﬁ « ,[m'l
205 | Y
205 |
MOUNTING HOLE MOUNTING HOLE
CHASSIS THICKNESS 1.2 chtgl\i%' Pafggge CHASSIS THICKNESS 1.2 gg::t ';'fg Paiggge
I A 14
|>u ] i) i ,‘i;
T —— . rle —r2l
= g LL W i
[ cG-203]
oF G
6; s ﬁé MOUNTING HOLE
‘ ‘ CHASSIS THICKNESS 1.2~2.3
Part No. | A B D|E| F |G H | Package
CG-203 [203.2(177.8(3.2|11.9/4.6 |54 |4.6 100
CG-600A |152.41127.0(3.2|1.3|4.75|6.4 |4.62 900
CG-650 |164.1]139.7|4.4|11.2|4.57|5.71|4.47
CG-700 |[177.81152.4(3.211.3/4.75|6.35|4.62
CG-700A [177.81152.4(3.2|11.3|/45 |56 |4.4 100
CG-750 |190.5]165.1(3.2|1.3(4.57|5.71|4.47

HAR -



iR B ZPCHRMN M L > ®EFAE >
% o
+ Material: Nylon 66 (UL) IR
+ Flame Class: 94V-2/94V-0
« Color: Natural/Black
« Unit: mm
45 .
(o)
L JI *H‘ll*g Pack
***************** ; %% Part No. ackage
U U @@ - CG-45 1000
046 047 \IOUNTING HOLE
THICKNESS 1.6~1.8
923 —
110 | 2
5 =1
©
j* 2.3 Part No. | Package
o o 1 CGLI-110 | 500
‘ —
M@3.4 4
¢ % MOUNTING HOLE
1 1016 L THICKNESS 1.2
' o
89.2 p ‘ 103 L
| i
2.3 ' 28
L i3 %} CLl_— 3 __ @fm %
Y vl u U o
— <t — <
@3.4 55
4&77 AT & MOUNTING HOLE o *@ﬂ MOUNTING HOLE
THICKNESS 0.8 w 895 |« THICKNESS: T
76.7 o
Part No. T | Package
Part No. | Package CGDLA-102 |1.0 500
CGDLA-350 250 CGDLA-102L | 1.5
! A ‘ U
== == :
- 1] TIQ\E
& S o
™ N
‘ oF 6.4@ -
@/ i MOUNTING HOLE
1 B . CHASSIS THICKNESS 1.2~2.3
Part No. | A B © D F | H| I |Package
BCG-250| 63.5|38.1{6.35(6.35|4.8 [4.8]2.2 500
BCG-450|114.3|88.9(6.4 |6.4 |4.75|4.6|2.0
190.5 ‘ ‘ 62.7 ‘
|
= =) I
i AT
,,,,,,,,,,,,,,, — ' | E—— S ——
= =W Y ki
366 S — 41 S
5.6 3
5.97 04.37 @4.3 <
F—153.2— b 37.7—
MOUNTING HOLE MOUNTING HOLE
Part No. | Package Part No. | Package
FR-190 500 FR-250 500




Ak B ZPCARMMM L » 248 18

2 o
« Material: Nylon 66 (UL) 5
+ Flame Class: 94V-2/94V-0
« Color: Natural/Black
« Unit: mm
1897 S
= =i
-2
== —=—=—="F H
?3.18 5.54 S ¥
joe g
| 127 s Part No. | Package
MOUNTING HOLE ™ CG-140 250
THICKNESS 0.8~2.0
A <
| | <
B =7
| 2.2
= = ¥
™ 0
— <t
@3.2 5.2
Jiiit@ Part No. | A | B |Package
! B & CGA-63 |635|508| o
o
MOUNTING HOLE CGA-89 |88.976.2
THICKNESS 1.6
‘ - Q | 102.3 i p
| 762 | = Sj
= ﬂj o, 28
- T L
‘ ‘ . .
- =L B /933 5.5 o
B 4 : @‘#
@3.2 4+ 5.55‘@’ 895
~757.15——1 MOUNTING HOLE MOUNTING HOLE ®
THICKNESS 1.6 CHASSIS THICKNESS 1.2~2.2
Part No. | Package Part No. | Package
CGA-76 500 CGA-102 250
| § K | A o
= = i = =] I
=) g =) :I: %]:{': [, I | li[: %
L a(x2) : - i i v
*x2) ~ - 3(x2) - g -«
/gF N 5'5(ijhjrf3'2(xz) oF 5.54(X2) —3.05(X2)
| W%
MOUNTING HOLE MOUNTING HOLE
CHASSIS THICKNESS: T CHASSIS THICKNESS: T
[ CGA-178S ]
Part No. A |C|E|F|I J T Package
CGA-178 |178.5|6.5|3.1|3.3 [2.8| 83.0 |1.2~2.2 200

CGA-178S |177.8(6.4|3.2|3.18{2.0| 82.55]1.2~2.2
CGA-203 |203.2(6.2|3.2|3.2 [2.0] 95.2 |1.2~2.0] 100
CGA-217 |217.0[6.5/3.1|3.3 [2.8]102.0 |1.2~2.2] 200




Rig : A& SENBAR > BEPCHRD

b 2n s g2 °
- Material: Nylon 66 (UL) WAL HRATMR
« Flame Class: 94V-2/94V-0
« Color: Natural/Black
+ Unit: mm
‘ 280 ‘
| i
':\ \j =
T
! 241.5 ! 234
~ o Part No. | Package
140 | T T 26 CGS-280 100
——— === | 4O
@3.24—# ™
- Material: Nylon 66 (UL) A& BEPCRA#EA L REFIE
+ Flame Class: 94V-2/94V-0 R &)

+ Color: Natural/Black

+ Unit: mm
/ | 280

B -y T

- 119.8 + 119.8 - ~

4 035038 4 Part No. | Package
lbrf,f M‘:ﬁ'&” CG-280 100

HOLE IN CHASSIS
THICKNESS 2.0

E
i
Lo

327.8

56 S Part No. | Package
MOUNTING HOLE FR-1300 100
8
140 3, 23
=t
i i '
4.4(X2
$7{]}/® 2 Part No. | Package
L 1145 . CGA-140 100

MOUNTING HOLE
P.C.B THICKNESS 1.6




« Material: Nylon 66 (UL)

+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black

+ Unit: mm

Mg BZPCRWMMA L » &

R o

PartNo. | A| B | C|D|E|F T Package
CGLA-4  |38.4[20.0(9.2|6.4(3.4]3.2| 1.6~1.7
CGLA-4(1) |38.4[20.0(9.2|6.4(3.4]3.2] 1.0
CGLA-4(2) |38.4[20.0(9.2]6.4(3.4]3.2] 2.0 500
CGLA-4S  [40.0/20.0[/8.0[6.0(3.0[3.0] 1.6
‘ - CGLA-6 51.0(38.219.216.4|3.4(3.2| 1.6~1.7
| A | o E CGLA-8  |81.0(60.0/8.0]6.0(3.0(3.0| 1.6~1.8
‘ I [ J) CGLA-8(2) |81.0{60.0{8.0(6.0{3.0(3.0| 1.8~2.1
W O * CGLA-8(8) |81.0{60.0{8.0/6.0(3.0(3.0 1.8 250
3 A F CGLA-8(25)|81.0{60.0{8.0 | 6.0 {3.0 3.0 2.5
A ’EDJ‘_“g MOUNTING HOLE | CGLA-9(1) [91.5[71.0[8.06.0(3.0{3.0] 1.6-1.8
1 B ' THICKNESS: T CGLA-9(2) [91.5/71.0/8.0[6.0[3.0/3.0] 1.8~2.1
6.4 - 6.4
i 68 i o~ 3.7 38.4 oy 3
= = o I \ P
B g T (&) 5 T
#3.2 ~9.2~
@3 4 o
e E MOUNTING HOLE 23 4 MOUNTING HOLE
—38.2— THICKNESS 1.6 %zoﬁo THICKNESS 1.0
Part No. | Package Part No. | Package
CGLA-10 200 CGLA-11 500
7 . 7
57 < 2 57 o T . E
1 T
Y T
W K i ip gég
— 254 —— 20.4J L 25.4 #20.44
CHASSIS @3.0 HOLE IN P.C.B @3.0
P.C.B THICKNESS 1.8 P.C.B THICKNESS 1.8
Part No. | Package Part No. | Package
CGDLA-57 | 500 CGDLB-57 | 500
6.4
A O 3
e
w e
23 A Part No. A B | C |Package
yva 1 CGL-4 [38.4]20.0/2.0| 500
- - P MOUNTING HOLE
| B Hf:i P.C.B THICKNESS 1.3 CGL-8 ]81.0{60.0]2.5] 250
| I 6
\ 81 | i 3
= ==t
J B B
105~ 3
C@S MQT
60—
MOUNTING HOLE Part No. | Package
P.C.B THICKNESS 1.8 CGLC-8 500

B IAR




R : BRICFAPCR L » REFR >
« Material: Nylon 66 (UL) R o

+ Flame Class: 94V-2/94V-0

« Color: Black
+ Unit: mm
— ™ 7.9
i 30 ‘ T”T’ 5.1’*
= : : = | =1
Ls{l} 20 {‘} Part No. | Package
CGLC-30 500
MOUNTING HOLE @2.0
P.C.B THICKNESS 1.6
‘[-6.4-‘ {6.4“
32.2 R . ‘ 2.2 = .
| J i 'L 36[‘ | 3 J H'i 36[‘
) = 5 =] = He =)
P.C.B ©2.0 {% %ﬁ L | @ J %%* é} | 5
o : 64 416 P.C.B @2.0
THICKNESS 1.6 THICKNESS 1.6
Part No. | Package Part No. | Package
CGLC-32-1 500 CGLC-32-2 500
- Material: Nylon 66 (UL) ik B ZPCHRN M L » ®EFAE >
+ Flame Class: 94V-2/94V-0 G BB o
« Color: Natural/Black
+ Unit: mm
6
‘ 120 ‘ : 3
= =
i} g F
o
/@Fﬂ 7 4*¢
i
50 Part No. T Package
CGLC-120 |1.6~1.8
MOUNTING HOLE 200
CHASSIS THICKNESS: T CGLC-120S| 1.0
7.9
7.9 w 152.4 ‘ WZ.Z
[ 1524 Bk | b %%
= — = T
= -
~ <
$Q4.37 S'Sf@;— 4’(34.37 5.38
| 127 ! | 127 |
MOUNTING HOLE
N MOUNTING HOLE
THICKNESS 1.2-2.0 CHASSIS THICKNESS 1.2~2.3
Part No. Package Part No. | Package
CGLQ-153 250 CGLC-153 250
eR = -7.87
i 50.8 i T' o 2.16
= S
vy iy
5o®
(254.37\@ 538+ v @
54—
Part No. | Package
MOUNTING HOLE CGLC-50.8 1000
THICKNESS 1.2~2.3




Mg BZPCARHER L » BEFE

2% o
+ Material: ABS (UL) 3% %
+ Flame Class: 94V-0
« Color: Black
« Unit: mm
30 8
f L —
o (32}
N
1l B =
o) 43
@3(X2) ®
20—+

MOUNTING HOLE Part No. | Package
CHASSIS THICKNESS 1.6 CG-30 500

- Material: Nylon 66 (UL)

+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black

« Unit: mm

- Patented (& £ &)

42 o~ rlZ*

= =, %
| 50 | [

@
FZOﬂ @
| G~
& 8 @3(X2)
20 MOUNTING HOLE Part No. | Package
THICKNESS 1.6 CGLD-50 500

- Material: Nylon 66 (UL)
+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black

+ Unit: mm
-85
~7.25
) 15 3
- g i
Py
T Tl =
Al
o g 1
L 1 9
| 47 i Part No. | Package
CGLG-47 | 1000
| 100
e |
K & & [ e
(o))
N T | *‘?
e T L123
231 r42x) Part No. | Package
\gas é:i CGLI-100 | 1000

RECOMMEND MOUNTING HOLE
RECOMMEND THICKNESS 1.6



A%+ B ZOCP3.0MR A H M RPCK L -

22 H3E °
« Material: Nylon 66 (UL) ERTAR
- Flame Class: 94V-0
- Color: Black
+ Unit: mm
—41.8 —+—41.8 —
4.8(X2) S
f — 74.3 TIL
e = @
< 112
Z g g
~ o Part No. | Package
== — %@m CGLN-9 | 250
N~
o
N
- Material: PC+ABS (UL)
« Flame Class: 94V-0
« Color: Black
« Unit: mm
[ee)
113 ?
o =8 1 6.25
© S wz.n
— — Y Part No. | Package
‘ @3.2j% ‘ 504 CGLM-IN| 250
w 83.6 \
S
oY
113 S | 113 i%
* S e 1 |
= = 5 6.25 S —= ! - 6.25
© % jm:lll © %2.11
[=— — T =— =l
‘ @3.2]% INSERT NUT == 5.04 ‘ (/)3.17{'@ {INSERTNUT Lls.04
‘ 83.6 | M3X0.5P(X2) \ 83.6 | M3X0.5P(X2)
Part No. | Package Part No. | Package
CGLM-1 250 CGLM-2 250
| 113 |
113
. - == =H o 1+ 6.25
= — ; 6.25 © 3 mzn
© 2.11 — — y
e == Y g
3.2 Lls04 83.6 | THREAD '
THREAD INSERT NUT(X3)
‘ 83.6 | INSERT NUT(X2)
Part No. Thread | Package Part No. Thread | Package
CGLM-113 M3X0.5P 250 CGLN-113 M3X0.5P 250
CGLM-113-M2 |M2X0.4P CGLN-113-M2 |M2X0.4P




A%+ B ZOCP3.0MR A H M RPCK L -

L )
- Material: PC+ABS (UL) ZHE TR
+ Flame Class: 94V-0
« Color: Black
+ Unit: mm
| 113 |
PO — g = s
RECOMMEND MOUNTING THICKNESS 1.6
pa 7.08
s @ﬂowﬁ?T 1 2.65
e @ =i |
! 83.6 ‘ THREAD 3.05

INSERT NUT(X3)
RECOMMEND MOUNTING THICKNESS 1.6~2.4

Part No. Thread | Package
CGLN-2 M3X0.5P

2
CGLN-2-M2 |M2X0.4P 50
- Material: PC+ABS (UL)
+ Nut Material: Brass
 Flame Class: 94V-0
+ Color: Black
« Unit: mm
INSERT NUT(X3)
M2X0.4P @
= A=l LA A=l LA \_ﬁj
© Ol — [
—
83.6 S
I 113 |
MOUNTING THICKNESS 1.6 g — L©
= i
[—— P = %.n
MOUNTING THICKNESS 2.4~2.7
Q2.3*H* 3.5(X2) - 2.3(X2)
I -
L 41.8(X2) a‘
RECOMMEND MOUNTING HOLE Part No. | Package
RECOMMEND THICKNESS 2.4~2.7 CGLN-6-M2 250
- Material: PC+ABS (UL)
 Flame Class: 94V-0
+ Color: Black
 Unit: mm
‘ 113 ‘
‘ 100 ‘
| 02+
H@m Ewm—r((w: .
RECOMMEND MOUNTING THICKNESS 1.6

7.08

2.65
e oy Lt O & 1y —

)
& e 1 4
;\T(m.?(xa) | H-3.05
83.6

10.1

RECOMMEND MOUNTING THICKNESS 1.6~2.4

Part No. | Package
CGLN-3 250




A i Jfl,aocm 0 P H7X RPCHR £ »

- Material: PC+ABS (UL) ZRTAR
+ Flame Class: 94V-0
« Color: Black
« Unit: mm
| 113 |
\_’Ez> = 5 —H
RECOMMEND MOUNTING THICKNESS 1.6
. 2.65-12.73
[ O o 18] L1 Sy 111 <
@9_1—* e
4.2(X2) (2)3,2 ‘ 5 205
83.6 | S

RECOMMEND MOUNTING THICKNESS 1.6~2.4

Part No. | Package
CGLN-5 250

- Material: PC+ABS (UL)
+ Flame Class: 94V-0

+ Color: Black
« Unit: mm
- Patented (& #] &)

ﬁm%%
Installation Step

o
o
™

-

=

=

= C

sl
L0
™

O
u

;
* —
2 Host PCB Edge

MATING PCB

113 |
83.6
INSERT NUT(X2)
L Té\ @ 2] P
= Euvocr ==y W K ¥ PAT. = _© 3
@3.2 Tt
o
o

T e

w’u 7‘1‘“/ N W HU W T H@l%
RECOMMEND MATING PCB THICKNESS 1.6

RECOMMEND HOST PCB THICKNESS 1.6~2.4

Part No. Package
CGLP-3F-M2 100

- 113
j 83.6 ‘
L INSERT NUT(X3)
° S M2X0.4P ‘
2 % T
E C il o O
g K.Y PAT. %‘F‘?
Lo
!El ™ o
5 S
o _ =] I —
e v— Ly — Iy 5 t
: RECOMMEND MATING PCB THICKNESS 1.6
~
3 RECOMMEND HOST PCB THICKNESS 1.6~2.4
y Olq
! Part No. Package
> Host PCB Edge CGLP-5F-M2 | 100
MATING PCB



OCP3.0AR R #X RPCHR L »

Hig : Bl %
RHEITAR o

- Material: PC+ABS (UL)

- Pin Material: Nylon 66 (UL)
 Flame Class: 94V-0

 Nut Material: Brass

« Spring Material: Nickel Plated SWP
« Color: Black

« Pin Color: Bule

+ Unit: mm

« Patented (% 4] &)

akls

INSERT NUT(X2)
M2X0.4P ——12.5(CLOSE)

15(OPEN)

RECOMMEND MOUNTING THICKNESS 1.6 \
RECOMMEND MOUNTING THICKNESS 1.6~2.4

SPRING

~6.83

T T
2 4 L]
Y T

Part No. Package
CGLP-4F-M2 100

A& : Bl EPCRABEBTAPCR L » ®
= ’ 2 o

- Material: Nylon 66 (UL) LA

+ Flame Class: 94V-2/94V-0

+ Color: Natural/Black

 Unit: mm
~ 2.2
«155,2» 2.2 . +‘W ‘FTD‘%
Wl B L
0 I =7.1~
j PC MOUNTING HOLE MOUNTING HOLE
LSJ Part No. | Package
CGH-1 500

CHASSIS THICKNESS 1.0~2.0

8- 4.7
1.6 i 45
] ffif »6
Z —
1l 7
ol P
oo MOUNTING HOLE
THICKNESS 2.0
o

(o)
[Te)
’J i) ‘ [ h ' Part No. | Package
14 - ~13.2 CGHI-1 500




Aig : Bl EPCRABBTAPCR L » ®
= ’ Q o
+ Material: Nylon 66 (UL) KR R %
+ Flame Class: 94V-2/94V-0

+ Color: Natural/Black
« Unit: mm

Lo

3.2 787 5
= 1
|
|
\

P.C.B THICKNESS 1.6
3.8 ~8.6
1.9+

4

4.1

1 MOUNTING HOLE
THICKNESS 0.76~1.78

9.4~

Wf

Part No. A B |Package
. ! CGHE-22.4 |122.4]122.0

o  H= I CGHE-34.9 | 34.9| 34.5 500
#ﬁt TYPICAL BOARD
T ! CGHE-47.5 |47.5|47.1
- cut-out CGHE-73 |73.0]72.6

<

7.9 :
‘tﬁ Part No. A | Package

CGHC-25.4 | 25.4
MOUNTING HOLE

CGHC-50.8 | 50.8
CGHC-76.2 | 76.2] 200

4

~—5.45 ~—+5.45

T
w
(=]
[$a]

]
929.54 ¢

5 M OE

o

9.5

MOUNTING HOLE MOUNTING HOLE
THICKNESS 1.2~1.8 THICKNESS 2.0~3.0
Part No. | Package Part No. | Package

CGH-31 500 CGH-31L 500




Rt B EPCRABBRPCKR L » &

+ Material: Nylon 66 (UL) BHAR > B o

+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black

+ Unit: mm
- 4 f—
— 4 [
‘ —5.5+ 2.5+
~{5.5F 2.5 i L
| |
H i ) !
M \| T [Te}
PANEL | w PANEL o
\_THICKNESS | || & \- THICKNESS | || o
1.6 ! 1.6 ;
| |
| | 4 1
F? B J . =
9.5 ~9+ 2 9.5 ~9+- &
BOARD BOARD ~
THICKNESS 1.2~1.8 THICKNESS 2.0~3.0
7 —6.25
N~ ~ e
™55 ~ 5-5J
0 0
Ln Lo
T 1
MOUNTING HOLE MOUNTING HOLE
Part No. | Package Part No. | Package
CGH-37 1000 CGH-37L 1000
94 -2
flﬂj OT
[{e)
S 3
H | e KJ Part No. | Package
k 1ol a3 CGC-1 250
12

MOUNTING HOLE

g BLABHSE ZTPCARINEAARPC
RE BERE FRKE o

- Material: PC+ABS (UL)
+ Flame Class: 94V-2
+ Color: Black/Blue

« Unit: mm
6.5
%
v( e
rril =
w0
M3X0.5P >
BRASS NUT
I Part No. | Package
Edge CGHA-65 500

MOUNTING HOLE

MOUNTING HOLE
THICKNESS 1.6




Fig : BLABH&E ZPCARN A ARPC

s nZ A N >3 o
+ Material: PC+ABS (UL) ko REFE > FRE
+ Flame Class: 94V-2/94V-0

« Color: Black/Blue

+ Unit: mm
ﬁ
o
[{e)
M3X0.5P 2
BRASS NUT L rs
0
S
1 Part No. | Package
o 933 " Edge CGHB-65 500
—12~ MOUNTING HOLE
MOUNTING HOLE THICKNESS 1.6

« Material: Nylon 66 (UL)

+ Flame Class: 94V-2/94V-0
« Color: Natural/Black

« Unit: mm

o 61

4as
QS.SJO\QLS
o < MOUNTING HOLE
Part No. | A B | Package
[E: CGH-90 77.2| 89.2 200
o M3X0.5P B
s BRASS NUT CGH-130 |{118.5(130.0 100
~-+6.07
ﬁ To 4.5
N
i o 0
o
-+
mi\v
o~ @3.2
© o
S © @1.7(X2)
(o]
\ MOUNTING HOLE
| THICKNESS 0.8~1.0
LEJ Jﬂj Part No. | Package
1105 M3X0.5P CGHB-90 | 1000
BRASS NUT




Rt B EPCARNEAR L » RI0°TF R

- Material: Nylon 66 (UL) # -
+ Flame Class: 94V-2/94V-0
+ Color: Natural/Black
« Unit: mm
—107 a‘ B1(X2)
7 s @3
EREEEE
s ™ |
P.C.B 1.6 — 6

w
! —? Part No. | Package
Z-SL I ULCG-1 1000

THICKNESS 1.6~1.8

- Material: Nylon 66 (UL) Big : BEZPCR¥EBE » REFIE -
+ Flame Class: 94V-2/94V-0 R &)
- . « Color: Natural/Black
+ Unit: mm
- 4.2
-5 34
T 7 1
e}
ISk
S O 2

@ @ Part No. | Package
L 29\~ ULCG-2 1000

HOLE IN P.C.B @2.2
THICKNESS 1.6

]
ar o

f% f@ﬁ

4-+3.2~

4+ A

=

HOLE IN CHASSIS @4.3 MOUNTING HOLE @4.5
BOARD THICKNESS 1.6~2.0 THICKNESS 1.6
+ Flame Class: 94HB
Part No. | A | Package * Color: Black
CGB-2 | 2.0 2000 Part No. | Package
CGB-6 4.8 CGB-3.2 2000
‘ 25.32 <
i T L Rl
/ﬁ‘ﬁ 1
@3.5
63'8()(2)% A Part No. | Package
N N INTEC-1 500
—16.26—

MOUNTING HOLE
THICKNESS 1.2



	8-00
	8-01
	8-02
	8-03
	8-04
	8-05
	8-06
	8-07
	8-08
	8-09
	8-10
	8-11
	8-12
	8-13
	8-14
	8-15
	8-16
	8-17
	8-18
	8-19
	8-20
	8-21
	8-22
	8-23
	8-24
	8-25
	8-26
	8-27
	8-28
	8-29
	8-30
	8-31
	8-32
	8-33
	8-34
	8-35
	8-36
	8-37
	8-38
	8-39

